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SECTION B
(60 MARKS)

Answer any THREE questions.
Show working clearly for each question.

Find the solution set of the inequality —4 < 2x — = — (1 - XX> < 1 and illustrate it on

o

the number line. {6 marks}
. . o~ i . T i t -

A geomeltric progression (GP) has six terms. If the 3™ and the 4" terms are 28 and —56

respectively. Find the sum of the six terms of the sequence. 16 marks]

A friend agrees to loan you GH¢1000.00. The debt is to be repaid by making a
GHel100.00 payment the first month. Each succeeding month’s payment is to be
increased by GHe¢100.00 until the debt is paid. Assuming no interest is charged, how
many months are required to complete payment, and what is the amount of the last

payment? I8 marks]

The table below shows a binary operation * defined on the set of real numbers a, b and
[o%

I ¢
aga b I b
b a C b

=

C ¢ b C
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(i)  Determine whether or not * is closed. {2 marks]
(i) Determine whether or not = is commutative. 2 marks]
(ii) Evaluate:
(w)) a*(b*c): [3 marks]
(o) (a*b)y*(a*cy. {3 marks]

Graph the following system of inequalities and shade the area to show the sotution:

2x +y=zdandy —Zx =4 [5 marks]
Solve the equation. log(2x — 3) +log8 = log(x + 6). {5 marks]}

w

12 marksj
imal places.
§5 marks]

(i) Write down the expansion of (1 + x)
i) By writing 0.99 as (1 — 0.01), evaluate (0.99)°, correct to five dec
) Js . J

Find the sum of the f 20 terms of an arithmetic progression whose second term is 10
th oo .

and whose 177 term s 35, {7 marks]

Cind the values of b, ¢, and o so that the equation x +bx” +cx+d =0 has solutions of

~3.~land 5. 6 marks]

. ER\ .
Solve - - 1=0 14 marks]
RANE
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Giventhatd= 8 6 ‘12‘! B= 7 9 §jand (=12 5 4| evaluate A-B+(

s ? | !

g B ~ i - | i o

01 13 43 7 9 11

The distribution of students offering elective subjects in a class of 126 st zd: nts shows that

60 of them mtd\, Ceonomics. 72 study Mathematics and 66 study Ge h}, Also. 30
tudy both Feonomics and Mathematies. 36 study b conomics and {} Y ;ﬂn' and 4
wh&u) iy two of the three subjects, [ every student studies at least ¢ of the three

x'ubjccis find the number of students who studs

(1) all three subjects:
(i1y Mathematics and Geography only. {13 marks]
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